e -
il pe ASALNENKRUIN

fa: Jud: _ ezuuu_
(4x+ 3)(3x* —x+ 5)— (4x + 4)(3x + 4) (2x— 1)(6x— 6)(3x + 2)
(x+ 4)(x — 3)(5x — 3) (6x° — 5)(5x +2) — 6% + 5x — 3
X+ (6—x)(x— 1)(6x—2) 2+ (3 2x)(2x— 5)(6x— 1)
(Bx+ 5)(5x¢° = 3x+ 3) — (x + 4)(2x + 2) (2 +3)(x+2)+6°% +2x—6
(Gx? + )(5x—4) + 4% +3x +5 6x — (1 +4x)(3x + 4)(x — 3)
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ANTUELNEANWUU

o [T
ia:

(4x+ 3)(3x> —x+ 5)— (4x + H)(3x + 4)
1223 = 7% — 11x— 1

(x+4d(x—3)(5x—3)
5¢° + 2x° — 63x + 36

x+ (6—x)(x— 1)(6x—2)
—6x° + 44x% — 49x + 12

(3x+ 5)(5x% = 3x+ 3) — (x + 4)(2x + 2)
15 + 14x> — 16x+ 7

(Bx%+ 1)(5x—4) + 42 +3x +5
152 — 82 +8x+ 1

Jun: ATLLUU:

(2x — 1)(6x — 6)(3x + 2)
36x° — 30x° — 18x + 12

(6x% — 5)(5x +2) — 6% + 5x — 3
30x° + 662 — 20x — 13

2x+ (3 — 2x0)(2x — 5)(6x— 1)
—24x° + 100x” — 104x + 15

(F+HE+2) +6F +2x—6
x>+ 8% + 5x

6x — (1 +4x)(3x+ 4)(x —3)
—12x° + 17%% + 59x + 12
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